N of reco track vs dxy(PV) | N of associated (recoToSim) tracks vs dxy(PV) N of associated (recoToSim) looper tracks vs dxy(PV)

10°

10?

10

i

5 =56-15-10 5 0 5 1'0 1'5 2625 5=26-15-10 =5 0 5 10 15 20 25

0.

0.

AAGQIAL 42

TR
= LIIC& IIIIIJ‘SUN =bkwe=fowrdimo=modiffCMSSW—13—0—X—2623~
J—

N of reco track vs  ———— Bl: New

10*

10°

AT

8-0. 0.4—0

i

H_-__,_

e 1

1111 1

0 30 0230

BT

1111l 1]

=30 -20 -10 O 10 20 30 =30 -20 -10 0 10 20 30

A SRR | [

1 0.5

L 111 I'lEIII Ll 1 1

-1




	Contents
	Page 1


